RN B h— R
AR
$96m XENZHFYYH—RFIEAS 1EE[15]

o
®
REW

JFA

DREAMM

B&EsnsuW<Bd

B B {20168 H27H(%) 15:00 FHEHRII0H R30S PKAX | £i54 WImERELRES BIEE
x & I8 R B (27°C | % E [ 49% B i EvF(E) LEBEE | EvF(EE) B1g
TyFazviat—ia 5 Eif * F AIHE HE HERM 1% EEEL A HH HEH
BHT7wvY— UTH B BE1EAEE sosnsi T E B SERBLiH O 1,925 X
1 IR 2
WIS T4FC 1 0 B 2 4 27o>7—/Ml
(BIERRRE) (J2) KICK OFF
xR <a1—hk = . NN - . = ~a—k XK
No. OUTESM P 2T A il i i i i TR OUTESH: No.
0 Malil =l B 21|GK|GK| 22|#2& — & 0
1 1 B # 13| DF| DF | 39|#E/R 5hXRER 0
1 1 hiE & 4|DF|DF| 33|& BEGFLA-V V1) 0
0 )1l K& 20| DF|DF| 19| A1l HE— 0
0 M E 29| DF|MF| 26|EH =— 0
0 B 3 (Cap.) 31|MF|MF| 10|25 1Bt (Cap.) 11 685>
635 0 = 16|MF|MF| 17|B2M & 0
11 2 _E B 19| MF|MF| 25|BEH EfE 11
1359 20 2| 1|&REF BA 5IMFIFW| 11|=41 E 4/ 3 1 834
11 2 HK ME 8|MFIFw| 20|FE R E=F 4 113
HRI LT 10| FwlFw| 18|k &R 3_3 655>
A% [EE 1] GK] GK| 29[#A[R 1B
JBEFH EM 3|DF|DF| 6|%HE EHl
#I FF0 15| pF|MF| 5[iE2 —{= 0 11
o o |[EEFH 23| MF|MF| 16|BEF 2= 0 10
16 1 1 £+ BEER 39(Fw|Fw| 30|21l HEAX 2 2 18
B BEE 5 B
Hrh #7] RE#® B E|1IEFHE 52
%A A Bl &
g F—LEE g
6 5 11 22—k 15 9 6
2 6 8 GK 12| 4 8
2 0 2 cK 3 30
51 6 11 EfEFK 14 51 9
30| 3/ REFK 4 3 1
30 3/AIHME) 4 3 1
00 0 0 PK o 0 o0
BarmE 858F—4 [No. BaE 27 |BEEE mhl: ~FUJ)L S>O0/8NA | ZEER/NA X BB Sva—k HAF T
277 T—/ | 18T A 0—1 | %&-1 10 T i1} 11 [ AEBS| 18 [mwiv-i AES
3550 | WiT T4 bir A BA 1—1 | h-2i 16 ~ — ihsi— 5 invIrL-i B RS
05 |77o7—/ | 18T R 1—-2 | &2 11 T i1 18 HS
R 27o7—/ | 20igEK EF 1-3 | %&-2 25 T idi—1i 19 - 20 inva-l HES
809|777 —/ | 30iE)I| HEXR 1—4 | £-2 25 1 hdk-1i 30 inwi-i AES
P KDIE@ 1 2 3 4 5 6 7 3 9 10 11 12 13 14
[ arm] B7E47:07(2:07) . $%$48:20(3:20), RAFTERSRT 1:50:22
[fB&]

s AJVIIIRTT



